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Word Problems 
Addition of Three 3-digit Numbers 

Example Add 149, 271 and 300. 
Read the problem carefully. Study wha 

Write the steps clearly and th 
Carry over 1 ten to the tens' column and write 0 under 

ones' column. 

Step 1 Add the ones. 9 ones+1 one = 10 ones = 1 ten + 0 ones 

HTO 
O0 
1 4 9 Step 2 Add the tens. 4 tens+ 7 tens+ 1 ten (carry over) 

= 12 tens = 1 hundred + 2 tens 

Carry over 1 hundred to the hundreds' column and 

write 2 under tens' column. 

A shopkeeper sold 12- 

on the second day am 

many books did he se 

Example 1: 
27 1 

+3 0 0 

7 20 Step 3 Add the hundreds. 1 hundred + 2 hundreds + 

Solution: What is given in the problem 
3 hundred+ 1 hundred (carry over) = 7 hundreds 

Ans. 720 Number of books sold by a s 
Write 7 under hundreds' column. 

Exercise 
What are we asked to find o- 

Add the following. Total number of books the = 

HTO HTO HTO HTO HTO How can we find this out ? 

7 4 9 3 76 Books sold on the first day 
5 70 4 3 9 61 8 

10 1 
+1 4 0 

3 0 1 10 9 2 4 8 Books sold on the second day 
1 29 

+190 +1 21 +3 0 2 +2 1 0 Books sold on the third day 

0 9 30 64 Total number of books sold in 3 days 

HTO HTO HTO HTO Altogether 545 books were 
HTO 

Example 2: 40 men, 48 womem 

many people live t" 5 08 4 69 1 4 5 2 4 5 170 

3 1 7 199 7 09 2 5 9 2 5 9 

+15 0 +2 9 9 +1 1 9 +27 4 +2 9 0 Solution: 
Numbe 

967 973 Number C 

Number 
HTO HTO HTO HTO HTO 

Total number of people living in th 

4 3 7 4 0 4 1 4 9 4 1 6 0 2 6 
25 3 

+1 2 5 

792 
3 3 2 111 people live in the building 

1 4 4 2 31 
+ 1 4 6 

2 0 4 

+0 3 0 +3 7 1 +0 1 2 

61 952 S12 
36 
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